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Which of the following enzymes works most effectively at a very low pH? (A) salivary amylase
(B) trypsin (C) pepsin (D) pancreatic lipase
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. The blood level of which gas is most important in controlling human respiration rate? (A) nitric

acid (B) carbon dioxide (C) oxygen (D) carbon monoxide
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After ingestion, the first type of macromolecule to be worked on by enzymes in the human
digestive system is (A) protein (B) carbohydrate (C) cholesterol (D) nucleic acid receptor
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The main target organs for tropic hormones are (A) muscles (B) blood vessels (C) endocrine
glands ( kidneys
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Which of the following respiratory systems is not closely associated with a blood supply? (A)
the lungs of a vertebrate (B) the gills of a fish (C) the tracheal system of an insect (D) the skin
of an earthworm
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1. What is the “Homeostasis”? Could you give an example to explain it? (5%)

2. Could you descript the differences between of apoptosis and necrosis? (5%)

3. "

4. {TERATEHIE (polymerase chain reaction) ? HAFERFA ? FIH—GIFFERRRR

What is the “central dogma”? (5%)

A 7 (5%)
Could you descript the differences of DNA and RNA 7 (5%)
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endomembrane system
Okazaki fragment
photophosphorylation

o=

allosteric regulation
™. FEEEES 5 5 #£105)

1. Mendel’s law of segregation and law of independent assortment

2. BEFEMEHALSIERARIBIE. B4E light reaction and Calvin cycle?
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